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(1) Question no. 1 is compulsory.
(2) Answer any three from remaining.
(3) Figures to the right indicate full marks.
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Find Laplace transform of tsin’t. 3
Find half range sine series in (0,n)forx(m—x) s
Find the image of the rectangular region bounded by 2
x=0,x=3,y=0, y=2 under the transformation o=z+{l +i)

Evaluate J’f(z)dz along the parabolay =2x>, z=0 togz =3+ 18i 5
where f(z) = x* -2iy

Find two Laurent's series of f(z)= 1 about z = 0 for 8

_ z%z—1xz+2)
fyofz =1 il |=izl=2

Find complex form of Fourier series for f(x) = cos b2x + sin h2x in (-2, 2) ¢
Find bilinear transformation that maps 0., 1, o of the z plane into -5, -1, 3 of 6
o plane.
Solve by using Laplace transform 3
(D? +2D + 5)y = e 4sintiwhen y(0) =0 and y'(0) =1
d*u du . . |
Solve e =0.by Bender schmidt method given SR
ox” a.f
u(0, t) = 0, u(4, t)=0, ufx, 0) = x(4 - x) | 6
Expand f(x) = ¢x #x? » 0 < x <1 in a half range cosine series.
= & N
valuaté G , 8
» o 6
L, cos2tsin3t
Exaluate je ————dt 7
0 & t 6
Using Crank Nicholoson method solve
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u0,t) =0, u4,t)=0
X .
u(x, 0) =— (16 - x?)
|
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